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1.1	
  GeV,	
  2.5T,	
  Transverse	
  
Material	
  12	
  Material	
  11	
  

Material	
  13	
   Material	
  14	
  (short	
  cell)	
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1.1	
  GeV,	
  2.5T,	
  Transverse	
  
Run	
  4946–	
  mat	
  11	
   Run	
  4949–	
  mat	
  12	
   Run	
  5066–	
  mat	
  11	
   Run	
  5069–	
  mat	
  11	
  

Run	
  5133–	
  mat	
  11	
   Run	
  5134–	
  mat	
  12	
   Run	
  5219–	
  mat	
  11	
   Run	
  5264–	
  mat	
  11	
  

Run	
  5028	
  –	
  dummy	
   Run	
  5137	
  –	
  dummy	
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h1
Entries  1077205
Mean   -0.09319
RMS    0.03163
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h1
Entries  1077205
Mean   -0.09319
RMS    0.03163

L.rec.th

Run Number
4950 5000 5050 5100 5150 5200

0.4

0.5

0.6

0.7

0.8

0.9

1

All Tgt Cuts
All PID Cuts
All Cuts

Effect of Cuts on Yields

Run Number
4950 5000 5050 5100 5150 5200

0.5

0.6

0.7

0.8

0.9

1

Cherenkov
Pion Rejector 1
E/p
# of Tracks

Effect of Cuts on Yields

Run Number
4950 5000 5050 5100 5150 5200

0.9

0.92

0.94

0.96

0.98 Tgt X
Tgt Y
Tgt Th
Tgt Ph
Tgt dp

Effect of Cuts on Yields

Effect	
  of	
  Cuts	
  	
  
PID	
  &	
  #	
  of	
  Track	
  Cuts	
  Target	
  Plane	
  Cuts	
  

L.rec.th	
   Combined	
  cuts	
  
Run	
  4947	
  
Run	
  4948	
  
Run	
  5067	
  
Run	
  5134	
  
Run	
  5219	
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Run #
4950 5000 5050 5100 5150 5200 5250

5000

10000

15000

20000

25000

Rate/Current

Mat 11
Mat 12
Mat 13
Mat 14

Rate/Current	
  Info	
  
Rate/Current	
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Run	
   Current	
   T3	
  Rate	
  

4947	
   8.28	
   208115	
  

4948	
   8.14	
   208702	
  

5067	
   17.81	
   392877	
  

5134	
   43.66	
   439254	
  

5219	
   44.87	
   900538	
  

5133	
   43.93	
   138830	
  

5197	
   19.47	
   302298	
  

5198	
   19.99	
   305566	
  

5264	
   51.04	
   669297	
  



Run	
  	
   Material	
   Prod/Dummy	
  
Ra6o	
  

Pf	
   Uncertainty	
  

4947	
   11	
   3.38	
   0.464	
   6.6%	
  

5067	
   11	
   2.77	
   0.347	
   3.5%	
  

4948	
   12	
   3.44	
   0.452	
   6.6%	
  

5134	
   13	
   1.88	
   0.140	
   3.3%	
  

5219	
   13	
   1.94	
   0.150	
   4.8%	
  

5133	
   14	
   1.68	
   0.210	
   4.0%	
  

5197	
   14	
   2.55	
   0.487	
   4.4%	
  

5198	
   14	
   2.50	
   0.471	
   4.7%	
  

5264	
   14	
   1.49	
   0.150	
   5.4%	
  

1.1	
  GeV,	
  2.5T,	
  Transverse	
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To	
  Do	
  
• 	
  Uncertainty:	
  

• 	
  XS	
  ra+o	
  very	
  dependent	
  on	
  beam	
  posi+on	
  
• 	
  change	
  in	
  tgtx	
  of	
  1mm	
  -­‐>	
  ~6-­‐8%	
  change	
  in	
  pf	
  
• 	
  change	
  in	
  tgty	
  of	
  1mm	
  -­‐>	
  ~3-­‐4%	
  change	
  in	
  pf	
  

• 	
  Working	
  on	
  technote	
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Backup	
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Reminder	
  –	
  Method	
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ρx = target number density
ρmass,x = mass density
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ρmass,x = mass density

1
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Reminder	
  –	
  Method	
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4950 5000 5050 5100 5150 5200
0.45

0.5
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Multitrack Efficiency

Run #
4950 5000 5050 5100 5150 5200 5250

5000
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25000

Rate/Current

Mat 11
Mat 12
Mat 13
Mat 14

4950 5000 5050 5100 5150 5200

0.88

0.89

0.9

0.91

0.92

0.93

0.94

0.95

Livetime

Run Number
4950 5000 5050 5100 5150 5200

0.9965

0.997

0.9975

0.998

0.9985

0.999

0.9995

1

Cer Eff
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Trig Eff

Detector Efficiencies

Normaliza+on	
  Constants	
  
Live+me	
  Detector	
  Efficiencies	
  

Mul+-­‐track	
  Efficiency	
   Rate/Current	
  

11	
  



1.1	
  GeV,	
  2.5T,	
  Transverse	
  
Material	
  11	
  –	
  no	
  single	
  track	
  cut	
  Material	
  11	
  –	
  All	
  Cuts	
  

Material	
  11	
  –	
  no	
  track	
  cut	
  and	
  no	
  MTeff	
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